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ENGLISH VERSION

Nations

1 Write in detail on any one :
(1) Causes and results of French revolution.
(2) Religious & KEconomical condition of Byzantine.
(3) Causes of First World War.
2 (a) Attempt any one of the following :
(1) Impact of Industrial revolution
(2) Results of Second World War
(b) Attempt any one of the following :
(1) Causes of Russian revolution
(2) Islam-Religion & Philosophy
3 (a) Write short answer of any two :
(1) Factors for Renaissances
(2) Results of Russian revolution
(3) Political achievements of United
Organization.
(4) Renaissances & Science
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(b) Write short answer of any two : 10
(1) Failures of United Nations Organization.
(2) Islamic Art & Literature

(3) Science and Humans.

(4) Result of First World War.

4 Attempt all following questions and reply in brief : 6
(1-2 sentence)

(1) Byzantine civilization was influenced by which culture ?
(2) Which is the secular Art style of Renaissance era ?

(3) In Russia, Which economic system came into existence
due to Stalin ?

(4) What was the immediate factor of french revolution ?
(5) What was changed due to American revolution ?
(6) Which was the most tragic event of 1% World War ?

5 Attempt any ten questions from the following : (M.C.Q.) 10
(1) Who formed regulation for Agriculture in Byzantine ?
(A) Augustus (B) Justinian
(C) Stalin (D) None of this

(2) Alexandria was academic centre for which branch ?
(A) Diagnostic (B) History
(C) Philosophy (D) Science

(3) In Islam day of Qayamat is day for what ?
(A) Happiness (B) Justice
(C) Birth (D) Sorrow

(4) What was the political reason for French revolution ?
(A) War (B) Autocracy of Monarchy
(C) Laws (D) Economical Crisis
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(5) The Industrial revolution was responsible for beginning

of what ?
(A) Machine Era (B) Golden Era
(C) Trade (D) Industries

(6) Due to which revolution two classes of Master and

Laborer evolved in the society ?
(A) Russian (B) American
(C) Industrial (D) French

(7) What was the year of commencement of First World War ?
(A) 1914 (B) 1947
(C) 1918 (D) 1920

(8) What is the main role of United Nations Organization ?
(A) Financial (B) Court
(C) Universal Peace (D) Religious

(9) The establishment of Industries was outcome of which

revolution ?
(A) Russian (B) American
(C) French (D) Industrial

(10) What was the important outcome of Russian revolution ?
(A) End of Autocracy (B) Foundation of Socialism

(C) Development of Science (D) None of this
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(11) What was the cause for fall of Europe ?

(A) French revolution (B) Industrial revolution

(C) Second World War (D) Fist World War

(12) Which was the effective impact on renaissance ?

(A) Monarchy (B) Science

(C) Crusade (D) None of this
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